LECTURE 25: The Harmonic Oscillator (redux)
What T expect you to learn:

-How to obtain the energy eigenvalues
of the harmonic oscillator using a
method of Dirac

-How to contruct the wave
eigenfunctions using the method
above

(Roughly reviews chapter 5.7 of the textbook)

(Solutions to prob. set 3 will be posted Friday afternoon)
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The solutions to (4) involve Hermite polynomials. I encourage you to

look at how the solutions are obtained in the textbook. You will
learn about Hermite Polynomials in later courses.
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